INTERNATIONAL INDIAN SCHOOL TABUK

WORKSHEET

Sub: Mathematics Class: VI

| — Answer the following questions:

1.  Fill in the blanks to make each of the following a true statement:

a.

b.

o©

75+80=__ +75

43+ =6+43.

55+0=

(248137 = _ #{(8%])

(__ +12)+30=10+ (12 +30)

2. Find the value of the following using distributive property.

235x7+235x3
208 x 1005 -208 x 5
708 x 1001

42 x 999

3.  Estimate the following by rounding off to nearest 100.

a.

2168 + 4007

b, 899~206

(&5

2199 x 101

4, A merchant has  Z87,500 with him. He placed and order of 70 items each costing  Z 265.
After making the payment what is the amount left with him?

5.  Avessel has 6 liters of ice cream. How many scoops 40 ml each can be made from it.
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